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PR 12,121,229 8,849,471 3,271,758
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T 1,065,000 1,065,000 0
p] 566,330 566,330 0
< 813,648 813,648 0
Al 9,371,251 6,099,493 3,271,758
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= 305,000 305,000 0
x 1,065,000 1,065,000 0
p] 566,330 566,330 0
< 480,648 480,648 0
Al 3,729,303 1,459,105 2,270,198
SN 6,146,281 3,876,083 2,270,198
= 305,000 305,000 0
T 1,065,000 1,065,000 0
p] 566,330 566,330 0
< 480,648 480,648 0
Al 3,729,303 1,459,105 2,270,198
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101 1218l 1,978,513 0 1,978,513
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10,660, 0002 10,660 0 10,660
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SHE2AZE YIIRY YR2AFE OFA2LRT
= 7,0008 *4Z *102 +62 1,680 0 1,680
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142,050,000 142,050 0 142,050
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80,000,000 80,000 0 80,000
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